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THOUGHT OF THE DAY
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According to word usage PI
Thank you sir &=

e ' GH Reply

urmila kumari 3 hours ago

Thank you sir 4
Today's h.w ans- Opt. E
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abhay singh 1 hour ago

Reply

Reply

Option e
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Reply

Twinklr Gupta 31 minutes ago

Hw ansis e. All correct.
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Mandini Sharma 2 hours ago

all correct
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WORD OF THE DAY

STREW
(VERB): (%I'@'HT): scatter

Synonyms: spread, disperse

Antonyms: gather
Example Sentence:

The newspapers were strewn all over the

floor.




WORD OF THE DAY IMAGE

Scatter!




ERROR DETECTION




1. There cannot be any situation where (1)/
somebody makes money in an asset (2)/ located
in India and does not pay tax (3)/ either to India
nor to the country of his origin.(4)/ No error (35)

(4) Replace “nor” with “or”




2. The automobile sector is one of the (A) /
largest employer in the country, (B) /
employing about 37 million (C) / people,
directly and indirectly (D) / No Error (E)

(B) Replace employer with employers



3. The bank may have followed (1)/ an aggressive
monetary tightening policy (2)/ but its stated
aim of (3)/ curbing inflation have not been
achieved. (4)/ No error (5)

3.(4) Here, Subject (the bank) is
Singular. Hence, curbing inflation

has not been achieved should be

used



4. Politicians and actors (1)/are shining on the
Indian (2)/ electoral firmament (3)/ for a
long time. (4)/ No error (J)

(2) The sentence show an event of period of
time Hence, Present Perfect
Continuous-have been shining should
be used here.



Almost all school teachers insist that (1)/ a
student's mother (2)/ is responsible for the
student's conduct (3) / as well as his dress. (4)/
No error (5)

(3) Here, is responsible for his/her
conduct should be used. Repetition
of student's is not proper



6. In the forthcoming elections (1)/ every man
and woman (2)/ must vote for the candidates
(3)/ of their choice. (4)/ No error (5)

(4) For every man and woman, his and her choice should
be used. Two Nouns qualified by each/every and
connected by and require a Singular Verb and
Singular Pronoun. Here Singular Pronoun should

come.




FILLERS




7.We should involve all our colleagues

in........... important decisions.

(1) instigating
(2) deciding
(3) pioneering
(4) making
(5) identifying

(4) making
instigating (V.): to make some

thing start/happen

pioneering (V.): to initiate/participate
in the development of

deciding (V.): to make an official/legal
judgement

identifying (V.) : recognising



8. For such a........ task, there should be some

special task force.
(1) trivial
(2) gigantic
(3) definite
(4) simple (2) gigantic

(5) complexity  triVial (Adj.) : not important/
serious

gigantic (Adj.): enormous; huge;
extremely large

definite (Adj.) : sure ; certain




9.-His. ... . attitude is the root cause of most
of his problems.

(1) inflexible

(2) positive

(3) incapable (1) inflexible <
inflexible (Adj.): that cannot be

(4) innovative

(5) playful changed ; rigid
innovative (Adj.) : introducing/

using new ideas, methods, etc.
playful (Adj.) : full of high

spirits and fun




10. If you....... yourself with the culture of that

area, you will be able to enjoy life there.

(1) know

(2) see

(3) familiarise
(4) imbibe

(5) inculcate

82. (3) familiarise
familiarise (V.) : acquaint
imbibe (V.) : to absorb some

thing, especially information

inculcate (V.): to cause some

body to learn and remember

ideas, moral principles, etc., especially

by repeating them often



11. I do not approve......... the views
expressed by you.

(1) wrote

(2) of

(3) at

(4) for

(5) realised

(2) approve (V.) agrees
with of (Prep.)




12. When he........ that his life was in
danger he called out for help.

(1) Feels

(2) decided

(3) Forecasted

(4) narrated

(5) realised

(5) realised
forecasted (V.) : projected
realised (V.): be/become aware




13. Our country is committed to........ peace all
over the world.

(1) starting

(2) establishment

(3) Maintain

(4) encompassing

(5) settle

(3) maintaining

encompassing (V.): to include a
large number/range of things :
to surround/cover something

completely




14. Although he is a balanced son, he
occasionally loses his........

(1) power

(2) grief

(3) temper

(4) anxiety

(5) wealth (3) temper

temper (N.) : a state of

mind/ emotion




15. The tunnel was so......... and congested
that we became frightened.

(1) Long

(2) broad

(3) dark

(4) quiet

(5) grief

(3) dark







Q16. P: It would be better to speak of uniformities of
nature.

Q: Law of nature are not commands but statements of
facts.

R: This would do away with elementary fallacy that a

law implies.

unfortunate.
(a) QSRP
(b) SQRP Ans.(¢)
(c) QSPR
(d) SQPR

S: The use of the word law in this ¢ e<



Q17. P: When the game of life is finally over there is no
second chance to correct our errors.

Q: Time is the greater equalizer of all mankind.

R: Time offers opportunity but demands a sense of
regard.

S: It has taken away the best and the worst of us
without regard of either.

(a) QSRP

(b) RSQP

(c) PQRS

(d) RSPQ Ans.(a)

(e) None




HOME WORK

P: To those who have known comfort, discomfort is a real
torture.

Q: Comfort is now one of the causes of its own spread.

R: The more comfort is brought into the world, the more it is
likely to be valued.

S: It has now become a physical habit, a fashion, an ideal to be
pursued for its own sake.

(a) QRSP

(b) QPRS

(c) QPSR

(d) QSRP

(e) None



The clever disciple (A) / had decided to
proved (B) / his skills by reciting (C) / the
holy verse (D) / from the book. All correct
(E)

A. disciple

B. proved

C. reciting

D. verse

E. All correct
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